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Q1. 2012 ¥ HUL oft-xiT Ft T fpl 3R 2014 A HU-t Heten 1 $a fawl @-
1Y) BT 2012 ® ST SN @t Fa APt 3R 2015 & ST Sil-=0Tw B Fa fawl
(TH-1Y) T 3rguTd fape=n 32

(a) 8:7

(b) 11:9

(c) 9:7

(d) 13:10

(e) 378 Q PIs Ta
L1Difficulty 2

QTagsLine Graph DI
QCreatorPaper Maker 10




Qz.uﬁ?ﬂfzolaaﬁmﬁaﬁzonﬁﬁvﬁ-mﬁ&ﬁ?ﬁ&ﬁaﬁﬁﬁﬁm:
20% 3R 10% I gfex gell 8, @ 2017 H HUT Sfl-RTe Bt 9wl 3R 2017 F HU=it
Fdtan @1 fawt & I sieR fpar 82

(a) 1340
(b) 1050
(c) 1080
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Q3. 2015 | GIHI Hufdl & $a fadt, 2013 H gl Huf-al Ht o fawr I fba
ufaera 3ifire 82

(b) 80%
() 70%
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Q4. ¥ 2012 | 2014 AP HU-! SiI-RiP Bt $a faw! 3R I 2013 | 2015 dF HUL
F3i ot pa At & v siaw 7@ Fifvme?

(a) 7500
(b) 5500
(c) 6000

idi 5000
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Q5. af¢ 2012 | HU-T SHI-RMiep @t fawpt |, 2011 # sq@! fawpt BT g1 W 25% B gfG
gl 8, af 2011 ® o & dsf A 2015 # Hu-l S-ie F fawt & fpaq ufa=ra
qfS 582
(a) 65%
(b) 75%
(c) 55%

idi60%
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Directions (6-10): = f&ar a7 &3 I fAfd 9 H SSC CGL 3R IBPS d& PO ULTe &
fore 3maes A ara faenfial ot T &) guifan g

Number of students in lakhs
30
25 ﬂ /A.
20 \/
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—8—SSC CGL IBPS PO

Q6.99 2013,2015 3R 2016 H TH-TY SSC CGL & T 3imade & aral faenflal &1 ay

2012, 2013 3R 2017 H TH-T1Y IBPS PO & T 3Mde" & aral faenffat ot d=m 3
3IUTd JTd HIfeTg?

(a) 35: 41

(b) 27 : 20

(c) 22:34

(d)51:32

(e)43:53
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Q7.3f¢ a¥ 2014 ¥, 1BPS PO & foTE 3fmde v aral faenffal § @ 20% 7 ssc cGL & forw
1t 3mae fear, ot 9 2014 & Fad ssc-CGL & foIU 3mde B3 arat feniiat &t g,
IBPS PO & foIT 3ifag & aral faenfial &) g &1 ford ufawrd 27
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Q8.3f¢ 2011 H SSC CGL & foIu 3faea H3+ arat faenfiay &Y Twem, av 2012 & ssc ¢GL
& o e & ardt faenfdal & g1 & 100/3% & g, O a9 2011 H SSC CGL &
fow 3mdeT & g el ot T, 99 2015 & 1BPS PO & Tl 3ided & 9Tdl
faenfiat ot Twm &1 fopdan ufawia g7

(a) 30%

(b) 25%

(c) 35%

(d) 40%

() 50%
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Q9. Tt auf H ssc-cGL & g sided oA arat faenffal & ofwa sik T+ft asf & 1BPS-PO
& Y 3i1de - aral faenfial & offed & der AT fhan ofaR 872

(a) 3.5L

(b) 4L

(c) 3L

(d) 2.5L

(e) 2L
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Q10. afe af 2015 H ssC-SGL & oW 3Mmded & ard 45% Ul aeferal € R av
2015 H SSC CGL & Tl 3Mded & dTelt dsfbdl &1 ay 2017 H IBPS PO & foU 3de
HRA aTell TSfBal § U 4: 5 8, @ 2017 H IBPS PO & oW 3fded A dmd
AS®! DI T-AT J1d PHIToTE?

(a) 8L

(b) 7L

(c) 9.5L

(d) 4L

(e) 3.75L
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Directions (11-15): FHAIf@d % &1 AFYd® Sreaa- BT qYT dEgaR IR
difere

Frafafaa are af 2005-2010 F R HRT & T 3reT- 3T sl A UeT g3 ASiHal
B F=I & ufrerd fyavor o1 gufar 2

50
45 /‘ ‘\
40

{ N gjasthan
. _T_ X /;” A’_ —+—Rajasth

Bihar

.
30 \/f'" Kerala
25 _— —

20

2005 2006 2007 2008 2009 2010

Q11. afd 2007 ® Hva # UaT g3 AsfPal B o "&AT 70,000 A, at I/ af 2007 &
IR # T §5 ASIBal Dt el GBAT JTd HIFOTT.

(a) 85,000

(b) 80,000

(c) 84,000

(d) 1,30,000

(e) 1,02,000

L1Difficulty 2

QTagsLine Graph DI

QCreatorPaper Maker 10

Q12. ¥ BE aul A fyares voeuE # Uer g5 asfedl & ufawra &1 sia aF, It

gﬁﬁﬁwﬁﬁﬂmg@aﬁﬁm‘f%m%aﬁﬂamm MY =
?

(@) 3

(b) 1.5

(c) 2.5

(d) 2

(e) 1.16
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Q13.d¥ 2008 & 2009 ®, fiHY I=4l A Uer 53 AsiHal ot Hoa & A 20% F IfS &3
At afe 2000 # fygR # Uer 58 dsfwal 1 TBAT 60,000 A, A 2008 H IS & UaT
g3 ISyl @t Hd JBAT J1d DI

(a) 90,000

(b)1,00,000

(c) 95,000

(d) 85,000

(e) 1,05,000
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Q14. Tf¢ 2006 ® ISIUTH H UgT g3 wsfHal $1 T@AT 80,000 &t, @Y 2006 H fagR 3R
&d U e Uer g3 asfeal ot sia w= g1d S|

(a) 1,21,000

(b) 1,15,000

(c) 1,25,000

(d) 1,20,000

(e) 1,00,000
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Q15. Tfg 2008 ®, fagR # 30,000 wsfrai A1 g8 ff, d@ I af Hear iR I U= A
U1 g3 ASfhdl Bt G BT SJUTd JTd BT

(@)2:3

(b)7:5

(©)5:9

(d)6:5

(e)3:2
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Solutions
S1. Ans.(a)
. . 2500+5500 soo0 8
Required ratio = — = ==
Sol. 3500 + 3500 7000 7

S2. Ans.(b)
Sales of company G-Shock in 2017 = 1.2 x 5000 = 6000
Sales of company Casio in 2017 = 1.1 = 4500 = 4950
So]. Required Difference = 6000 - 4950 = 1050



S3. Ans.(c)
Sales of both the companies in 2015 = 3500 + 5000 = 8500
Sales of both the companies in 2013 = 3000 + 2000 = 5000

Required 9 = 2220 5000 , 100 = 3522, 100 = 709

Sol. 3000 3000

S4. Ans.(d)
Total sales of G-shock from 2012 to 2014 = 2500 + 2000 + 4000
= 8500
Total sales of casio from 2013 to 2015 = 3000 + 5500 + 5000
= 13500

| Required Difference = 13500 - 8500 = 5000
Sol.

S5. Ans.(b)
100

Sales of G-shock in 2011 = 2500 = T 2000

(3500 — 20002 y
2000

Required percentage increase = 100

S6. Ans.(b)
Required ratio
=(17.5+20+30):(20+ 15+ 15)
=67.5:50

Sol. =27:20

S7.Ans.(a)



Students only apply for S5C-CGL in 2014

20
=25———x 20
100

=25-4
=21L

1
X 100
4

2
Required® =
d °~ 20

21
=—x 100
16

_21%25

4
. 525

4
=131 L 05
Sol. 4

S8. Ans.(d)
Students who apply for S5C-CGL in 2011

2
=—-x15=10L
3

10
Required % = — % 100 = 40%
Sol. 25

S9. Ans. (c)
Required difference

1
= -[(15+17.5+ 25+ 20 + 30 + 25) — (20 + 15+ 20 + 25 + 20 + 15)]

1 17.5
=—[(132.5 - 115)] = ——L & 3L
Sol. 6 6

S10. Ans.(e)

Girls who applied for S5C CGL in 2015= %20

100
=9 L

9
Girls who applied for IBPS PO in 201?=E %5
45

4
=11.25L

Boys who applied for IBPS in 2017 = 15— 11.25L
Sol. =3.75L

S11. Ans.(c)



Total girls born in the year 2007 in all
the three states

100
=—x 70,000
25

= 2,80,000
-~ Girls born in Rajasthan in 2007
= 30% of 280000

= 84,000
Sol.

S12. Ans.(e)

Average of percentage of girls in Rajasthan

1
=X (35 +25+30 + 45 + 45 + 35)
215

6
Average of percentage of girls born in Kerala

1
==X (25+40 425+ 25+ 30 + 40)
_ 185

6
215

~. Required answer = —
q 185

Sol. = 116

S13. Ans.(a)
Total girls born in 2009 in all states

100
= ——x 60,000
25

= 2,40,000
-~ Total girls born in 2008

100
= 2,40,000 ¥ —
120
= 2,00,000
45
~ Required answer = ﬁ ®* 2,00,000

= 90,000
Sol.

S14. Ans.(d)



Required average

1 100
==X (— * 80,000 - 8{}.{}{}0)
2 25
1
= 3 * 2,40,000
Sol. = 1,20,000
S15. Ans.(c)
Sol.
25

Required ratio = —
45



